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The question paper has 30 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 8 are Very Short Answer Questions. Each question

carries 1 mark.

Questions from serial number 9 to 20 are 3 marks questions. Answers of these questions
should not exceed 80 words each.

Questions from serial number 21 to 28 are § marks questions. Answers of these

questions should not exceed 100 words each.

Question number 29 and 30 are map questions of 3 marks each from History and

Geography both. After completion, attach the maps inside your answer-book.



1. '59 Wi Sihd € d SRt IR R Sl M e ST €' 98 He fRus 72 1
Jrrel

forra=m ® foh RN ol ‘ShiAA ' GehRT ST o1 ?

Who remarked “ when France sneezes the rest of Europe catches cold”.
OR

Who were called colons in Vietnam ?

2. TYT%H &Y H IUA! & STINT hl | galcHIed hiAl TMe ? 1
Why should the use of cattle cake as fuel be discouraged ?

3. oM@ WGl IR I Tl H Toh ST TR HIfT | 1
Distinguish between pressure groups and political parties by stating any one
point of distinction.

4. YNd 3 G YOI hl Rl STIAT 2 1

Why did India adopt multi-party system ?

5. o Ty o <1 fed @@l & M fafEw | Vot Yo=1

Name any two sectional interest groups.

6. TGS HHLTAT 39 KT T HREM 7 &5 | F41 T il & i s 99 1
To 1 qaeH 9 fiHerd €2
Why do MNCs set up their offices and factories in those regions where they get

cheap labour and other resources ?

7. G IR gRT SYHET i i &ifd U T §, O fhe Susdien Ay & of=miq 1
I8 THAM Dl AT o ToTT ST AT S Hehal © 2

If any damage is done to a consumer by a trader, under which consumer right

one can move to consumer court to get compensation.
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8. kUl & U= Fidl i S YUt W TR 1 Afa €2 1
Why is the supervision of the functioning of formal sources of loans necessary ?
9. ‘1830 1 T JAT H IR 2mfefen swfcreal ot '’ | qeh! Wfed He &t gfte
ST | 3x1=3
AYAT
Y21 = i e 9nt eTERe & favg g5 § fomamiiel o fau anves fas
B3| okl Wfgd e ot gfe Fife |

“The decade of 1830 had brought great economic hardship in Europe”. Support

the statement with arguments.

OR
“The Ho Chi Minh Trail became advantageous to Vietnamese in the war against
U.S.” Support the statement with arguments.

10. S H TSR AR o QR fhe ThR 1 AUST (IR fohall T o1 7 SHeh! &=A
forgreranati shl Tote HifST | 1+2=3

What type of flag was designed during the ‘Swadeshi Movement’ in Bengal ?
Explain its main features.

11. 3788 H 9rT Heigd St HeEreHl T o foeml $iR WS & aR # oTt e 3
STEYROT oft |’ qeh QoY YA hi I HIT |

“The plantation workers in Assam had their own understanding of Mahatma

Gandhi and the notion of Swaraj”. Support the statement with arguments.

12. %ol AT o ©Iq o SR TR eI ! FMhd hitoT | F Toh g T M €2

Classify industries on the basis of source of raw material. How are they different
from each other ? 1+2=3

13. ‘R IWH el ok Wt TRR 1 STAN 9 WIS | ol ol F7=d AR Sl & [9hTE
G 990 7 Rl faehfEd e st G Aaeasdl ¢ ' 38 Saad SHE & FHaR
& T g T ST FRIET 3iR 3% T it | 3x1=3

‘Consumption of energy in all forms has been rising all over the country. There

1s an urgent need to develop a sustainable path of energy development and
energy saving’. Suggest and explain any three measures to solve this burning
problem.
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14. YR H TNfires fIehm o R0 Scqel TR0 1Rt &1 ¥ &3 & fau &8
T 3uT gy | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by
the industrial development in India.

15. &g TSTHider ardl 9 1 1fgm § 7 4 &g TSTifdeh arel’ i HI=dT 9T A
& foTu TEavae I o1 Seeid hifed | 1+2=3

What is meant by regional political party ? State the conditions required to be
recognised as a ‘regional political party’.

16. SHfEd SATd TS FAT & 72 3Teh! h1d JUNC! hl F0MH HIFT | 1+2=3

What are public interest pressure groups ? Describe their functioning.

17. 39 9RA § TSHITGR Sl o THE A 91 A FAIaa S99 &id 8 7 3 foar
glicky 1+2=3

Which three challenges do you feel are being faced by political parties in
India ? Give your opinion.

18. ‘‘Shl | STHT bl TS FRIISTAT STHIShl o WY-E1e T o e feqat €711 oM i
T HITST | 3x1=3

“Deposits with the banks are beneficial to the depositers as well as to the nation”.
Examine the statement.

19. A & 9 YR TR A faes =R iR faesh faw w yfasy =i e few 3
& ? HRO 1 fIveTHor Sifs |

Why had the Indian government put barriers to foreign trade and foreign
investments after independence ? Analyse the reasons.

20. 'STER H USRS i GRaN o foay o IR fafr=di &t sravasa e 81’ 59
HYF i FEIed 3T | 3x1=3

“Rules and regulations are required for the protection of the consumers in the

market place.” Justify the statement with arguments.
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21. TiF H Aiferad 7 IS ® A fRmar o1 e Wi &9 H 399 i)
gl &1 wuee foea a8 O e sifys TeheTd 3R F3ra a9 Wk | Ton!
qfed 39 HYA w1 faveryo Hifsw | 5x1=5

SPEN

“fmen § =efl wif| ardiet A forrdam w1 fawrs foren fSwes aRomeeasy =@
HEAIS i e 7 faaa ™ w1 g &5 § 95 faan)”’ ol died 36 KU H
fergeraron i |

“Napoleon had destroyed democracy in France but in the administrative field

he had incorporated revolutionary principles in order to make the whole system
more rational and efficient.” Analyse the statement with arguments.

OR

“The peace negotiations in Geneva followed the division of Vietnam that set in
motion a series of events that turned Vietnam into a battle field.” Analyse the
statement with arguments.

22. AT M 1 Gfa=a TaT Qe ! a19d o+ o1 0™ 341 fran 2 9w Sifse |

Why did Mahatma Gandhi decide to call off the Civil Disobedience
Movement ? Explain. 5x1=5

23. WS o TI&IUT k1 Hecd TIR HIfST | 3= T H o fau for=l i1 Sl =
ISR HITTT | 2+3=5

Explain the importance of conservation of minerals. Highlight any three
measures to conserve them.

24. YRA H TS IREed a1+t ot Y@ uftaed i erdan S1fush gfaumses €1 dehl dfed
9 o 1 gHH HIfT | 5x1=5

“Roadways still have an edge over railways in India.” Support the statement
with arguments.
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25. AT & SATRTad Herd w1 i HIfeTT | 5

Describe the popular struggle of Bolivia.

26. ‘‘ciehdd o foTT TSHIfAeh Sall ol BT STTEvae I g 1’7 39 Y 1 Seedvil 9fgd
fergereron shifSw | ox1=5

“Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

27. TR &=k & HUN ] fhd THR T TR SR ASIGU o T TRt s

ST AT € 7 IS I S G | 1+2+2=5

How can the formal sector loans be made beneficial for poor farmers and
workers ? Suggest any five measures.

28. YRAMT Afeqawel W IYATHI0 & FHTE] o SqTeXvl gfed oo shifeg | 5x1=5

Describe the impact of globalisation on Indian economy with examples.

29. T AU A, B 3R C 9Rd o QU Y 1T T@-AAes (53 9 W), H 3ifeha fhu
T 1 39 ATl 1 freAfafaa SRt i geEar 9 g ofR S e WE A
e | Gt 18 W@ W fafen 3x1=3

A, I% T ST gt gl e ueell g fwa o

B. 9% TN S STHEAN e 9199 o1 § T g 2|
C. U T Wl YNATd TS hidg i STRITH g o |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :

A. The place where cotton mill workers organised Satyagraha.
B. The place related to the calling off the Non-Cooperation Movement.

C. The place where the Indian National Congress Session was held.
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T e e shalcl greanferd gaeerar o T 9= W& 29 o ¥ WE
(29.1) 38 TR %1 M fafaw, Sl gt wuer fret Tergdl 3 gemre fwar o
(29.2)  STHEAN TSI i A9 o1 § GHEYd TH o1 A4 fafaw |
29.3)  feqweR 1920 # WRAT T KT 1 TS el g o1 ?

Note :  The following questions are for the Visually Impaired Candidates only
in lieu of Q.No. 29 :
(29.1) Name the city where cotton mill workers organised Satyagraha.

(29.2) Name the place related to the calling off the Non-Cooperation
Movement.

(29.3) Where was the Indian National Congress Session held in
December 1920 ?

ne o

30. XA o feu MU TerHIfaew War-wmfes (728 11 W), | Fefafad 1 3wy fo=i 9

gITEY 3R 3% W fafgu : 3x1=3
A, d9 99 - femes

B. gl 9 3G 947 - fyeg

C. YqE §Ygl U - il

On the given political outline map of India (on page 11), locate and label the
following with appropriate symbols :

A. 01l Field - Digboi

B. Iron and Steel Plant - Bhilai

C. Major Sea Port - Kochi

M.  Trefafed v Saa gfeanfia gienfefar % g e 9@ 30 % wH WE
30.1)  femeE 9o & form o7 H fee@ €2
(30.2) 39 =¥ w1 9 fafgn, Sl faar wer o soqra 9+ o § 1
(30.3) W o el T TR Terd werd Sfarolt y@ |t oo o1 A fafe |

Note :  The following questions are for the Visually Impaired Candidates only
in lieu of Q.No. 30 :
(30.1) In which state is Digboi oil field located ?
(30.2) Name the state where Bhilai Iron and Steel Plant is located.
(30.3) Name the Southernmost major sea port located on the eastern

coast of India.
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For question no. 29
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For question no. 30
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